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Part A Grammar & Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1), (2), (3),
and (4). Choose the one word or phrase that best completes the sentence. Then mark your answer sheet.

76. A: Look! How pale that girl is! I think she .......... faint.

B: Come on! Take care of her. I .......... call a doctor.

1) will / is going to 2) is going to / will

3) will/ will 4) is going to / is going to
77. You’d like to spend your summer vacation in a very quiet place, .......... you?

1) didn’t 2) had 3) wouldn’t 4) hadn’t
78. Alexander Selkirk .......... to be a model for Robinson Crusoe, but his story was very different from the
famous novel.

1) believed 2) has believed 3) is believed 4) was believing
79. The little boy has been taught by his parents not to even touch ...... does not belong to him.

1) when he knows 2) does he know

3) he knows it 4) what he knows
80. The old man is very proud of the ... of valuable stamps he has now available in his album.

1) presentation 2) experience

3) contrast 4) collection
81. Unemployment is increasingly growing, and the officials do not make any serious efforts to find a better
....... to this big problem which leads our young population to addiction.

1) position 2) uncertainty 3) solution 4) frequency
82. We know that some nouns are irregular, so they don’t .......... the same rules for changing to plural ones
as regular nouns do.

1) generate 2) follow 3) capitalize 4) correct
83. Biologists have recently found that the fingerprints of koala bears are almost.......... from those of a
human.

1) impossible 2) uninteresting

3) inappropriate 4) indistinguishable
84. The increasing construction of factories in this area is believed to .......... the wildlife; that’s why people
are gathering in front of the president’s office.

1) protect 2) increase 3) endanger 4) divide
85. As a matter of course, the Turkish government is trying to, though it can’t, control the .......... in the
currency exchange rates.

1) creation 2) variation

3) foundation 4) reception
86. The government is thinking of issuing the .......... work permit to foreign highly skilled workforce
resources to meet its current needs. This actually makes them concerned about being deported.

1) consumable 2) changeable

3) renewable 4) comprehensible
87. In the press conference, the president tried to react.......... to all the pointed questions primarily about the

recent financial corruption.
1) calmly 2) cruelly 3) sadly 4) directly
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Part B Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Fitness experts are now telling us that cycling is one of the best forms of exercise. As well as making
you stronger and more energetic, cycling also helps to ...(88)... your breathing. Not only does correct
breathing help your lungs develop, but it is also good for your general well-being. But for cycling to
have the right ...(89)... on the body, you should cycle as much as you can, because the more you
practice, the better the results will be.

For people who are not accustomed to doing exercise, ...(90)... . It also has other advantages. Because
it is an outdoor sport, it allows you to spend time in the open air, and the idea of being able to escape
from the noise and traffic of the city is very attractive to many people. In countries like Germany and
Holland, where cycling is extremely ...(91)..., special cycling lanes are often built along the side of the
road. This not only gives the cyclist more freedom, but it also prevents accidents, which are often
...(92)... by impatient drivers who can’t wait to overtake a slow cyclist. More and more people are
taking up cycling in other countries too, even if there are no special cycle lanes.

88. 1) choose 2) combine 3) improve 4) produce

89. 1) type 2) effect 3) achievement 4) sense

90. 1) a great start it is cycling 2) it is a great start that is cycling
3) that cycling a great start is 4) cycling is a great start

91. 1) popular 2) various 3) particular 4) actual

92. 1) practiced 2) included 3) continued 4) caused

Part C Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions. Answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

Passage (1)

Protein plays a very important role in a successful health, beauty, and anti-aging program. It is the
basic material of life. In fact, the word protein comes from an ancient Greek word meaning “of first
importance”.

The body could not grow or function without it. As protein is digested, it breaks down into amino
acids, which are then used by the cells to repair themselves. Since the human body can manufacture
only 11 of the 20 amino acids that are essential for life, the remaining 9 must be provided through the
intake of dietary protein.

Without enough protein, our bodies enter into a fast aging mode. Our muscles, organs, bones,
cartilage, skin, and the antibodies that protect us from diseases are all made of protein. Even the
enzymes that take part in essential chemical reactions in the body-from digestion to building cells-are
made of protein. If your cells do not have complete access to all the essential amino acids, cellular
repair will be incomplete and also much slower.

It’s important to note that protein cannot be stored in our bodies; therefore, we need to have a good
source of quality protein at each meal for optimum health and cellular repair.

93. What aspect of protein does the passage mainly discuss?
1) What it does 2) What it is made up of
3) How it is produced 4) Where it can be found
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9. 94. Which of the following is TRUE about the origin of the word “protein”?

1) It is related to words meaning health, beauty, and anti-aging.
2) The actual word which it originally comes from means something that matches the importance of protein for
the human body.
3) It comes from a word in the English language which has a similar meaning to a word in Greek meaning “of
first importance.”
4) 1t goes back to a word in the Greek language which was invented when the role of protein in protecting our
health was first discovered.

9. 95. Which of the following is NOT true about protein, according to the passage?
1) It is the source of amino acids that human cells need to repair themselves.
2) What the human body uses to protect itself against illnesses is made of protein.
3) The source of all the amino acids that the human body needs to function properly is the protein we consume.
4) In order to repair themselves, our cells require a number of amino acids some of which are provided through
the intake of dietary protein.

9. 96. It can be understood from the passage that enzymes ... .
1) take part in the cell- building process
2) are needed for the production of protein in the body
3) make it possible for our cells to have access to the essential amino acids
4) are the product of a number of essential chemical reactions in the human body

Passage (2)

Dolphins are highly social animals, often living in pods of up to a dozen individuals, though pod sizes
and structures vary greatly between species and locations. In places with a high abundance of food,
pods can go together temporarily, forming a superpod, such groupings may go beyond 1,000 dolphins.
Membership in pods is not rigid; interchange is common. Dolphins can, however, have strong social
relations; they will stay with injured or ill individuals, even helping them to breathe by bringing them
to the surface if needed. This altruism does not appear to be limited to their own species.

The dolphin Moko in New Zealand has been observed guiding a female Pygmy Sperm Whale together
with her baby out of shallow water where they had stranded several times. They have also been seen
protecting swimmers from sharks by swimming circles around the swimmers or attacking the sharks
to make them go away.

97. 97. What is the best title for the passage?

1) Dolphins: Highly Intelligent 2) Humans and Dolphins

3) The Most Playful Animal 4) Social Behavior of Dolphins
98 98. According to the passage, a superpod ... .

1) is rarely formed 2) includes hundreds of dolphins

3) stays as it is once it is formed 4) can be seen where there is much food
9. 99. What does the phrase “This altruism” in paragraph 1 mean?

1) Coming to the surface to breathe 2) To establish strong social relations

3) Dolphin’s becoming injured or ill 4) Dolphins’ helping each other

100. 100. The passage mentions the dolphin Moko in New Zealand to ... .
1) support an earlier statement
2) give an example of dolphin’s family life
3) show that there are various dolphin species
4) prove that dolphins are more intelligent than other sea animals




